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Question 1
Question Type: MultipleChoice

A vSphere operator can only configure up to two virtual CPUs when deploying a new virtual machine (VM).

Refer to the exhibit:

What is the cause erf this situation?

Options: 
A- VMs support a maximum of 2 CPUs.

B- The selected cluster is not in DRS mode.

C- The selected ESXI host has only 2 CPUs.

D- The compatibility selected is 'ESXi 6.5 and later'.



Answer: 
C

Question 2
Question Type: MultipleChoice

An administrator is migrating 100 virtual machines from one ESXi Host to another. The current lGigE network cards are only migrating

four virtual machines simultaneously.

Which action should the administrator take to increase that number to eight?

Options: 
A- Add more memory to the ESXI hosts

B- Add a 10GigE network card to each ESXI host

C- Configure port mirroring

D- Configure Load Balancing

Answer: 



B

Question 3
Question Type: MultipleChoice

A vSphere administrator has migrated a virtual machine between two ESXi hosts using vSphere vMotion and notices that the VM can no

longer be pinged.

What caused this situation?

Options: 
A- The virtual machine has RDMs attached.

B- A different datastore is being used after the migration.

C- There is an MTU mismatch.

D- The destination portgroup has an incorrect VLAN tag.

Answer: 
D



Question 4
Question Type: MultipleChoice

Refer to the exhibit:

Which piece of information should a vSphere operator conclude about iSCSI-01?

Options: 
A- The datastore failed because it reached its capacity limit.

B- The datastore does not have any free capacity.

C- The disk usage on the datastore is above 75%.

D- The datastore usage on disk was reset to green.



Answer: 
C

Question 5
Question Type: MultipleChoice

Which problem is solved by migrating virtual machines (VMs) using vSphere vMotion?

Options: 
A- A vSphere cluster that needs to be upgraded without any VM downtime.

B- A problem that occurred during VM patching and a roll-back is needed.

C- The names of the VM files that do not match the inventory name of the VM.

D- Heavy storage traffic and latency that are concentrated in a few datastores.

Answer: 
C



Question 6
Question Type: MultipleChoice

Which action must an administrator perform in the vSphere Client to create a copy of a running virtual machine?

Options: 
A- Right-click the VM template > New VM from This Template

B- Right-click the VM > Clone > Clone to Template

C- Right click the VM > Clone > Clone to Virtual Machine

D- Right-click the VM template > Convert to Virtual Machine

Answer: 
C

Question 7
Question Type: MultipleChoice



A vSphere administrator needs to create an exact replica of a virtual machine as a safeguard prior to changing the virtual machine

configuration.

Which vSphere feature accomplishes this requirement?

Options: 
A- vSphere Fault Tolerance

B- vSphere vMotlon

C- Cloning

D- Snapshots

Answer: 
D

Question 8
Question Type: MultipleChoice

Which feature must be enabled to configure vSphere Proactive HA?



Options: 
A- vSphere DRS

B- Cluster EVC

C- Fault Tolerance

D- vSphere HA

Answer: 
D

Question 9
Question Type: MultipleChoice

Which two physical resources are abstracted by the hypervisor and presented to virtual machines? (Choose two.)

Options: 



A- CPU

B- Libraries

C- Application

D- Desktop

E- Memory

Answer: 
A, E

Question 10
Question Type: MultipleChoice

An administrator is asked to copy a single hard disk from one datastore to another. Which virtual machine Hie type should the

administrator select?

Options: 
A- vmdk



B- vswp

C- vmx

D- vmss

Answer: 
A
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